


Project : Modifying 1 pre-made indicator as I described

I have a request of removing 1 buffer and adding 4 extra buffers in 1 pre-made indicator.
Firstly, take a look at below image, please.
[image: ]
Image of OIH_SR_Dots_ExpRS_v1.1_2109012328

Firstly, remove “RS Distance” buffer in data window and also in the code, please.

And I need extra 4 buffers as followings below.
For more details, I’ll show you the calculations by images.

1. Top Box
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Image of OIH_SR_Dots_ExpRS_v1.1_2109010420 01

A – Start point of new Resistance[H1]
B – Price_High[M15] == current Resistance[H1]
C – After 2 candles[H1] from “A” && 1st Price_High[M15] > lower line of Top Box

For “Top Box” explanation, take a look at below image and explanation, please.
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Image of OIH_SR_Dots_ExpRS_v1.1_2109010420 02

A – Start point of new Resistance[H1]
B – Price_High[M15] == current Resistance[H1]
C – After 2 candles[H1] from “A” && 1st Price_High[M15] > lower line of Top Box
Horizontal line – Open of candle at B ( a candle that price_high is equals to current resistance[H1])
                Higher value of either Open or Close will be used to calculate lower line of “Top Box”.
                At this time, there is negative candle at B, so “price_open” should be used.

Here, “Top Box” means that a box has upper line and lower line, and upper line is value of current resistance[H1] and lower line is value of open of negative candle at B. 

To calculate “1st price_high[M15]”, new indicator should calculate it from “C”.
Vertical line “C” means the moment after 2 candles[H1] from “A” (new Resistance start).
So, I can explain it as followings below.
Resistance[H1] on the 3rd previous candle != Resistance[H1] on the 2nd previous candle
 It means “C”

By using above condition, we can calculate the 1st hit Price_High[M15] from “C” to the end of current Resistance[H1].
At this time, Price_High[M15] at “C” is greater than lower line of “TopBox”.
And also, this moment is the “1st hit of TopBox”.



Finally, we can get Box “E” likely as above image.
In above image, it shows as followings below.
EURUSD_M15  09:30     ** Red vertical line that price_high[M15] == current Resistance[H1]
Open 1.18289
High 1.18311
Close 1.18269

v1 Current Resistance 1.18311

As you can see, Open > Close where Price_High[M15] is equals to current Resistance[H1] on current candle.
So, we have to use “Price_Open” here to calculate Lower line of “Top Box” here.

New indicator will have buffers as followings below.
v1 Current Resistance
v2 Current Support
v3 Previous Resistance
v4 Previous Support
v5 Expected Resistance
v6 Expected Support
v7 Close Breakout Upward
v8 Close Breakout Downward

v9 TopBox Upper   1.18311      ** Current Resistance[H1]
v10 TopBox Lower   1.18289     ** Open / Close (which is greater than) value where Price_High == current Resistance[H1] 
v11 Bottom Upper   1.12345     ** As always it has Resistance and Support, it will have values of Bottom Upper and Lower lines, I just explained only a certain Resistance here.
v12 Bottom Lower   1.12345      ** As always it has Resistance and Support, it will have values of Bottom Upper and Lower lines, I just explained only a certain Resistance here.
v13 1st Hit of TopBox      1.12345 / 0.00000   ** Price_High[M15] or “0.00000” when it didn’t happen
v14 1st Hit of BottomBox   1.12345 / 0.00000   ** Price_Low[M15] or “0.00000” when it didn’t happen


EURUSD,M15
Date	2021.08.31
Time	11:00     ** At vertical line “C” where 1st hit of TopBox happened
Open	1.18272
High	1.18296
Low	1.18253
Close	1.18267
Current Resistance	1.18311
Current Support	1.17948

At vertical line “C”, Price_High[M15] > Lower line of “Top Box”.
so, it will show “v13 1st Hit of TopBox == 1.18296” (price_high on current candle) && “v14 1st Hit of BottomBox == 0.00000”.
And this value will be shown continuously till the end of current Resistance[H1] – ISM.

And I just explained only “TopBox” and “BottomBox” in this document, but there will be many Top / Bottom boxes on chart.
These Top / Bottom boxes will be shown by “MaxBars 500”.



How to display Top Box
As you can see, there is a Tomato colored rectangle box on chart.
Color : Tomato
Type : Dashed (1 from 0~4)
Width : 0 (from 0~4)

In parameter option, there will be an option to display it on chart or not.
Top/Bottom Boxes     False (as default setting)





2. Bottom Box
Now, I’ll explain the details of “Bottom Box” here.
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Image of OIH_SR_Dots_ExpRS_v1.1_2109010420 03

A – Start point of new Support[H1] && Price_Low[M15] == current Support[H1]
B – After 2 candles[H1] from “A”
C – 1st Price_Low[M15] < upper line of Bottom Box

For “Bottom Box” explanation, take a look at below image and explanation, please.
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A – Start point of new Support[H1] && Price_Low[M15] == current Support[H1]
B – After 2 candles[H1] from “A”
C – 1st Price_Low[M15] < upper line of Bottom Box

Horizontal line – Open of candle at B ( a candle that Price_Low is equals to current Support[H1])
                Lower value of either Open or Close will be used to calculate upper line of “Bottom Box”.
                At this time, there is positive candle at A, so “price_open” should be used.

Here, “Bottom Box” means that a box has upper line and lower line, and upper line is value of open of positive candle at A and lower line is value of current support[H1]. 

To calculate “1st price_low[M15]”, new indicator should calculate it from “B”.
Vertical line “B” means the moment after 2 candles[H1] from “A” (new Support start).
So, I can explain it as followings below.
Support[H1] on the 3rd previous candle != Support [H1] on the 2nd previous candle
 It means “B”

By using above condition, we can calculate the 1st hit Price_Low[M15] from “B” to the end of current Support[H1].
At this time, Price_Low[M15] at “C” is lesser than upper line of “BottomBox”.
And also, this moment is the “1st hit of BottomBox”.



Finally, we can get Box “E” likely as above image.
In above image, it shows as followings below.
EURUSD,M15
Date	2021.08.31
Time	12:00     ** Red vertical line that price_low[M15] == current Support[H1]
Open	1.18198
High	1.18291
Low	1.18191
Close	1.18285

Current Support	1.18191


As you can see, Open < Close where Price_Low[M15] is equals to current Support[H1] on current candle.
So, we have to use “Price_Open” here to calculate Upper line of “Bottom Box” here.

New indicator will have buffers as followings below.
v1 Current Resistance
v2 Current Support
v3 Previous Resistance
v4 Previous Support
v5 Expected Resistance
v6 Expected Support
v7 Close Breakout Upward
v8 Close Breakout Downward

v9 TopBox Upper   1.12345      ** As always it has Resistance and Support, it will have values of Bottom Upper and Lower lines, I just explained only a certain Resistance here.
v10 TopBox Lower   1.12345     ** As always it has Resistance and Support, it will have values
of Bottom Upper and Lower lines, I just explained only a certain Resistance here.
v11 Bottom Upper   1.18198     ** Open / Close (which is lesser than) value where Price_Low == current Support[H1]     
v12 Bottom Lower   1.18191      ** Current Support[H1]

v13 1st Hit of TopBox      1.12345 / 0.00000   ** Price_High[M15] or “0.00000” when it didn’t happen
v14 1st Hit of BottomBox   1.12345 / 0.00000   ** Price_Low[M15] or “0.00000” when it didn’t happen


At vertical line “C”, Price_Low[M15] < Upper line of “Bottom Box”.
so, it will show “v13 1st Hit of TopBox == 0.00000” && “v14 1st Hit of BottomBox == 1.12345 (price_low on current candle)”.
And this value will be shown continuously till the end of current Support[H1] – ISM.

And I just explained only “TopBox” and “BottomBox” in this document, but there will be many Top / Bottom boxes on chart.
These Top / Bottom boxes will be shown by “MaxBars 500”.



How to display Top Box
As you can see, there is a DeepSkyBlue colored rectangle box on chart.
Color : DeepSkyBlue
Type : Dashed (1 from 0~4)
Width : 0 (from 0~4)

In parameter option, there will be an option to display it on chart or not.
Top/Bottom Boxes     False (as default setting)


File name of a new indicator will be “OIH_SR_Dots_ExpRS_v1.2”.





Requirement(s)
∙ It should work properly as I described.

- 11 -

image3.png




image4.png




image5.png




image1.png




image2.png
,
S
e M
A m

AB C

N
a





